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(1bs) (%) (D) (FO (FO)
14.6 13.7 0.55 5.4 3.6
________________________ 14.4 __13.5 . 0.53 ____ 5.5 ... 3.8 ____.
15.4 14.5 0.38 5.8 4.8
15.3 14.6 0.41 5.9 4.8
10
(hr/10a) (hr/10a) (hr/10a) (hr/10a)
H3 30.2 (66.5) 2.4(82.8)
45.4 2.9
H4 22.7 (77.2) 6.2(101.6) 21.5(116.2)
29.4 6.1 18.5
H7 35.5 (49.0) 22.7(34.0)
72.5 66.7
H10 11.0(80.9) 16.0(82.1)
___________________________________________________________ 13.6 ... 19.5 ______
H3 33.0 (63.5) 11.8(89.4)
52.0 13.2
H4 3.0(96.8) 10.8(85.0) 34.1(87.4)
3.1 12.7 39.0
H7 17.0(96.6)
17.6
H10

25.2(134.8)
18.7
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